H o & & &

TG4 H 1 BIZRK LT EE R B ARE N RE TFICRIT 2R OL T L Hifli £ 72134
| (RBNL KO B IOV TIHAE TIER < &%) (I2OW T, BIROEMEDO LBV EET D,
Pk, BiEEOREE LTARE 2@aEl L, YEERTAITRIO L, %8 18zkE7T 5,

SFN64E 45 26H

FREE ERT RBEETEA B AR 1538

KA SMESCHARIT A HENE

EERSELRAREEITR U K

ZE T RRRRETAGCSFET2 T H8%ES

K4 RS AR RS

REHE B A

[
—
[
H

TrzEs TR



HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
AR A
= 1 1,515, 089
SRR T
= 1 1, 034, 400
ISR UBE
= 1 1, 034, 400
i EE (BR) WEEEER
FRE 400 2,586 1, 034, 400
WEmRE T
= 1 189, 840
TEHRALER T
= 1 189, 840
HARE AR (88) 18 EE PR L5, Sk (
DIDA V)
m3 15 3, 630 54, 450
HAR AR (K28 B @ R 15, 5
m(DIDA V)
m3 15 3, 630 54, 450
ARGy AR (5)
m3 15 2,248 33, 720
ARGy AR (B 2E)
m3 15 3,148 47, 220
ANRIMERR R - R
= 1 80, 721
AR « PR L
= 1 80, 721
AR §2 )8 1 30emPL_60cmAR i
i 3 1,065 3,195
AR §2 )& 1 60cmPL_E90cmAR i
i 3 2,425 7,275

-1- E Lozl s A R




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
AR ER & 190emLk - 120emA i
VN 3 4, 747 14, 241
AR ER 2 JE 1 120emPh_E 150emAi;
VN 3 7,138 21,414
AR 2 JE 1 150emPh_E200emAi;
VN 3 11,532 34, 596
e
= 1 210, 128
RImE T
= 1 210, 128
AR FE AR B A G BB
= 1 210, 128
HRE R
= 1 3,903, 697
H PR E Rtk 1T
= 1 3,903, 697
MRHIF AL T
= 1 3,903, 697
R B ARIR HE
m2 102, 540 38.07 3,903, 697
EPE L
= 1 5,418, 786
B ST ¢
= 1 676, 484
B ST ¢
= 1 92, 656
BUGERRYGEE (K5 1)
= 1 92, 656
-2 - ELAREE sk 5




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
HiE R (FE L)
= 1 583, 828
Wi
= 1 6, 095, 270
BTk X=giiv
= 1 2,705, 041
R 5]
= 1 8,800, 311
— R
= 1 1, 949, 689
Tk
= 1 10, 750, 000
THE B 2 %8
= 1 1, 075, 000
TG
= 1 11, 825, 000

-3- E Lozl s A R




